Homework 2 S$1201, Summer 2022
100 points Due July 20, 23:59PM EST

Notes: Please read the following instructions.

(i) Please submit a single PDF file on courseworks. You may scan your written solutions
or directly write the solutions on your tablet.

(ii) Late submission will lead to some penalty: 20 points off for within 24 hours late, 40
points off for over 24 hours late, all points off for submission after the solutions are
posted on courseworks.

(iii) You can discuss the problems with others. But a direct plagiarism will lead to zero
point for this assignment, and this will be reported to the university.

(iv) There is one extra problem with 7 bonus points, which is optional. Therefore all points
add up to 107, but the maximum score of this homework is 100.

1. 2 X 7 =14 points TRUE/FALSE questions. No explanations are needed.

(a) The cumulative distribution function, F'(x), is never greater than 1.

(b) If for some events A, B,C, we have P(A) = 0.3, P(B) = 0.4 and P(C) = 0.5, then
it is possible for P(AU B U C) to equal 1.2.

(c) If 20% of all students at Columbia are taking a statistics course and 10% are
taking a history course, then 30% are taking a statistics or history course.

(d) For a continuous variable X, rather than F'(z) = P(X < x), its cdf can be also be
defined as F(z) = P(X < x).

(e) HP(ANBNC) =P(A) x P(B) x P(C), then events A, B and C are mutually

exclusive.
(f) The random variable X is a function, which maps an outcome to a number.

The permutation number Py, = k!X the combination number (7
g ; k
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2. 2 X 4 = 8 points Suppose P(A) = 0.6 and P(B) = 0.59, where A and B are some
random events.

(a) What are the maximum and the minimum possible values for P(A N B)? Draw
Venn diagrams for each situation.

(b) What are the maximum and the minimum possible values for P(A U B)? Draw
Venn diagrams for each situation.

(c) Is it possible for A and B to be mutually exclusive? If yes, provide an example; if
no, explain why.

(d) Is it possible for A and B to be independent? If yes, provide an example; if no,
explain why.
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3. 3 X 2 = 6 points Answer the following two questions.

ae™™, 0<x <1,
(a) f(x) = 525, x>1, . What’s the value of a that makes f(z) a legitimate

0, elsewhere,
pdf?

(b) With the value of a you derive in part (a), write out the corresponding cdf function.
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4. 3 X 2 = 6 points Answer the following two questions.

ar?, r=1,2,3,

. What’s the value of a that makes p(z) a legitimate
0, elsewhere,

pmf?
(b) With the value of a you derive in part (a), write out the pmf table.
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5. 3 X 4 = 12 points 8 cards are selected at random from a 52-card deck.
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(a) What’s the probability of getting four 8’s and four Queens?

(b) What’s the probability of getting a hand consisting of all four suits (i.e. have at
least one card from each of four suits)?

(c) What is the probability of getting a hand of 2 x #-2 x ©-2 x -2 X &7

(d) What is the probability of getting a hand with distribution like “4-1-1-2” (e.g.:
4x W-1X0-1xP-2xd4x0D-1x&1xP-2xMetc.)
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6. 3 X 3 =9 points Prove the following conclusions.
(a) Suppose P(B) > 0. Then events A and B are independent (here we mean the first
definition P(A|B) = P(A)) if and only if P(AN B) = P(A) x P(B)

(b) Suppose 0 < P(B) < 1. Then events A and B are independent if and only if A°
and B¢ are independent;

(c) If two independent events A and B satisfy 0 < P(A) < 1 and 0 < P(B) < 1, then
A and B cannot be mutually exclusive.
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7. 10 points About 30% of human twins are identical, and the rest are fraternal. Identical
twins are necessarily the same sex, half are males and the other half are females. One-
quarter of fraternal twins are both male, one-quarter both female, and one-half are
mixes: one male, one female. You have just become a parent of twins and are told they
are both girls. Given this information, what is the probability that they are identical?
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8. 54+5 = 10 points Suppose that it is known that 20% of students in a certain university
live off campus. If we randomly sample 15 students from this university, what is the
probability that:

(a) Exactly 5 live off campus?

(b) At least one lives off campus?

Hint: Recall the example of binomial distribution in slides of lecture 7.



Homework 2 S$1201, Summer 2022
100 points Due July 20, 23:59PM EST

9. 6 points Consider the system of components connected as in the accompanying picture.
Components 1 and 2 are connected in parallel, so that subsystem works iff either 1 or 2
works; since 3 and 4 are connected in series, that subsystem works iff both 3 and 4 work.
If components work independently of one another and P({component i works}) = 0.9
for i = 1,2 and = 0.8 for ¢ = 3,4, calculate P({the system works}).
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10. 2 X4+ 5 = 13 points The accompanying table categorizing each student in a sample
according to gender and eye color :

Eye Color

Gender Blue Brown Green Hazel Total

Male 370 352 198 187 1107
Female 359 290 110 160 919
Total 729 642 308 347 2026

Suppose that one of these 2026 students is randomly selected. Let F denote the event
that the selected individual is a female, and A, B, C, and D represent the events that
he or she has blue, brown, green, and hazel eyes, respectively.

(a) Calculate both P(F) and P(C')

(b) Calculate P(F'N C). Are the events F and C independent? Why or why not?

(c) If the selected individual has green eyes, what is the probability that he or she is a
female?
(d) If the selected individual is female, what is the probability that she has green eyes?

(e) (5 points) What is the “conditional distribution” of eye color for females (i.e.,
P(A|F), P(B|F), P(C|F), and P(D|F))? And what is it for males (i.e., P(A|M),
P(B|M), P(C|M), and P(D|M))? Compare the two distributions.

10
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11. 3 4+ 3 = 6 points Airlines sometimes overbook flights. Suppose that for a plane with
50 seats, 55 passengers have tickets. Define the random variable Y as the number of
ticketed passengers who actually show up for the flight. The probability mass function
of Y appears in the accompanying table.

y |45 46 47 48 49 50 51 52 53 54 55

() ’.05 10 .12 .14 .25 .17 .06 .05 .03 .02 .01

(a) What is the probability that not all ticketed passengers who show up can be
accommodated?

(b) If you are the first person on the standby list (which means you will be the first
one to get on the plane if there are any seats available after all ticketed passengers
have been accommodated), what is the probability that you will be able to take
the flight? What is this probability if you are the third person on the standby list?

11
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12. (Extra problem, not required) 3 + 2 4+ 2 = 7 bonus points

Only 1 in 1000 adults is afflicted with a rare disease for which a diagnostic test has been
developed. Assume that for such a test, 98% of patients with disease obtain positive
results and 97% of patients without disease obtain negative results.

(a) Assume that (100a)% of the population has the disease, where 0 < a < 1. Pick
one person at random. The lab test shows positive result. What is the chance that
the person really has the disease? Hint: the answer should be a function of a.

(b) What condition should a satisfy for the probability in part (a) to be over 1%?
What condition should a satisfy for the probability in part (a) to be over 50%7

(c) Draw a plot of the probability in part (a) versus the value of a. (Do not need to
be very accurate, but the shape should be correct)

12



